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PHYSICS

The electrostatic force between two point charges
g, and g, at separation ‘r’ is given by

K
F= % . The constant K

(A) dependson the system of units only.

(B) depends on the medium between the charges
only.

(C) depends on both the system of units and the
medium between the charges.

(D) isindependent of both the system of units and
the medium between the charges.

When the value of each resistor is 100, the
equivalent resistance between the terminals X and
Y of thecircuitis:

(A) 10 (B)3n
(©) 50 (D)8

In acircuit two or more cells of the same em.f are
connected in parallel in order to:

(A) increasethe PD acrossaresistancein thecircuit

(B) decrease the P.D across a resistance in the
circuit

(C) facilitate drawing more current fromthe battery
system

(D) changethee.m.f. acrossthe system of batteries

Two electrical bulbs have tungsten filament of same
length. If one of them gives 60 watts and other 100
watts, then

(A) 100 watts bulb has thicker filament

10.

11.

(B) 60 watt bulb hasthicker filament
(C) both filaments are of same thickness

(D) itisimpossible to get different wattage unless
lengths are different

An dectric current passes through a long straight
wire. At a distance 5 cm from wire, the magnetic
fieldisB. Thefield at 20 cm from the wire would
be:

(A) 2B (B) B/4

(C)B/2 (D) B

An electric chargein uniform motion produces:
(A) anelectricfield only

(B) amagneticfield only

(C) both electric and magnetic fields

(D) nosuchfield at all

The fact that magnetic field is produced around a
wire carrying a current, was discovered by

(A) Faraday (B) Oersted
(C) Maxwell (D) Joule

When the current ispassing through the straight wire
then, the associated magneticfieldis

(A) Straight (B) Elliptical

(C) Circular (D) Parabolic.

When current is circular, the associated magnetic
fiddis

(A) Straight (B) Elliptical

(C) Circular (D) Parabolic.

When current flows clockwisein aloop, the polarity
of itsfaceis

(A) East (B) South

(C) West (D) North.

When current flows anticlockwise in a loop the
magnetic polarity of thefaceis

(A) East (B) South

(C) West (D) North.
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For asolenoid carryingacurrent | and having nturns
per unit length, wrapped on a core of permeability
m, the correct expression for magnetic field intensity
(B)is

Ho
A) B=—nl
(A) B=")

(C) B = mymnl (D) B = %
A mirror forms a virtual image of a real object.
(A) It must be a convex mirror.

(B) It must be a concave mirror.

(C) It must be a plane mirror.

(D) It may be any of the mirrors mentioned above.
The angle of incidence is the angle between

(A) the incident ray and the surface of the mirror
(B) the reflected ray and the surface of the mirror
(C) the normal to the surface and the incident ray
(D) the normal to the surface and the reflected ray

A ray of light is incident on a concave mirror. If it
isparallel totheprincipal axis, thereflected ray will

(A) pass through the focus

(B) pass through the centre of curvature

(C) pass through the pole

(D) retrace its path

If an incident ray passes through the centre of
curvature of aspherica mirror, thereflected ray will

17.
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(A) pass through the pole

(B) pass through the focus

(C) retrace its path

(D) be paralld to the principal axis

Other names for myopia are

(A) hyperopia and hypermetropia

(B) long-sightedness and hyperopia

(C) near-sightedness and presbyopia

(D) near-sightedness and short-sightedness

Thewavelengths correspondingto violet, yellow and
red lights are &, , A, and 2, respectively.

(A) Ay > hy > 2y (B) &y <Ay <
(C) by < hy < Ny (D) Ay <2, <y

When light rays enter the eye, most of therefraction
occurs at the :

(A) crystallinelens

(B) outer surface of the cornea

(C) iris

(D) pupil

Which of the following phenomena contributes

significantly to the reddish appearance of the sun at
sunrise or sunset?

(A) Dispersion of light

(B) Scattering of light

(C) Total internal reflection of light
(D) Reflection of light from the earth
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CHEMISTRY 25.

Thefollowing reaction isan example of a

4NH,(g) + 50,(g) — 4NO(g) + 6H,0(g)

(i) displacement reaction (i) combination reaction
(iii) redox reaction

(iv) neutralisation reaction
(A) (i) and (iv)

(©) (i) and (iii)

(B) (ii) and (iii)
(D) (iii) and (iv)

Which of the following are exothermic processes? 26.

(i) Reaction of water with quick lime

(ii) Dilution of anacid

(iii) Evaporation of water

(iv) Sublimation of camphor (crystals)

(A) (i) and (i) (B) (ii) and (iii)
(©) (i) and (iv) (D) (iii) and (iv)

What happens when a solution of an acid is mixed 27

with asolution of abase in atest tube?

(i) The temperature of the solution increases

(ii) The temperature of the solution decreases

(iii) Thetemperature of the solution remainsthe same
(iv) Salt formation takes place

(A) (i) only (B) (i) and (iii)

(©) (ii) and (iii)
During the preparation of hydrogen chloride gason
a humid day, the gasis usually passed through the

guard tube containing calcium chloride. Therole of
calcium chloridetaken in the guard tubeisto

(A) absorb the evolved gas

(B) moisten the gas

(C) absorb moisture from the gas

(D) absorb Cl- ions from the evolved gas

(D) (i) and (iv) 08,

29.

Aluminium is used for making cooking utensils.
Which of thefollowing propertiesof aluminiumare
responsible for the same?

(1) Good thermal conductivity
(i) Good electrical conductivity

(iii) Ductility

(iv) High melting point

(A) (i) and (i) (B) (i) and (iii)
(C) (ii) and (iii) (D) (i) and (iv)

What happens when calcium istreated with water?
(i) It does not react with water

(i) Itreactsviolently with water
(iii) It reacts less violently with water

(iv) Bubbles of hydrogen gas formed stick to the
surface of calcium

(A) (i) and (iv) (B) (ii) and (iii)

(©) (i) and (ii) (D) (iii) and (iv)
Which of the following is an example of a
‘decomposition’ reaction -

(A) CaO+CO, —» CaCO,
(B) CaCO, —» CaO+CO,
(C) Cu+2Ag" — Cu™ +2Ag

(D) CuXO, +H,S— CuS+H,SO,

The processof oxidationinvolves-

(A) The absorption of hydrogen atoms

(B) The absorption of electrons

(C) The release of electrons

(D) Neither absorption nor release of electrons

The number of molecul es of water of crystallisation
present in washing sodacrystalsis:

(A) five (B) two
(©) ten (D) seven
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Theformulaof baking sodais:

(A) K,CO, (B) KHCO,
(C) NaHCO, (D) Na,CO,
The aquaregiais

(A) 3HNO,(conc.) + 1 HCI (conc.)

(B) 3HCI (conc.) + 1 HNO, (conc.)
(C) HNQ, (conc.) + H,SO, (conc.)
(D) HNOQ, (conc.) + HCI (conc.)

Which of the following protects us from harmful
ultraviol et rays coming from sun.

(A) O, (B) H,0

(C) O, (D) H,0,

Heating of concentrated ore in absence of air for
conversion in oxide ore is known as —

(A) Roasting (B) calcination

(C) reduction (D) none of these
Common name of CaOCl, is -

(A) Bleaching powder (B) Baking soda

(C) Plaster of paris (D) Washing soda
Open-chain saturated hydrocarbons are called

(A) paraffins (B) akynes

(C) alkenes (D) akyl groups
Which of the following structures represents
1-propanol ?

37.
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(A) CH,CH,OH

(B) HOCH,CH.CH,

(C) CH, CHOH CH,

(D) CH, — CH, — CH,
(IZHZOH

The IUPAC name of the compond

H H H O

I l I [l
H—-—C—C—C—C—OH

I | l

H H H

(A) Propanone (B) Butanone
(C) ButanoicAcid (D) Butanal.

According to Mendeleev’s periodic law, the proper-
ties of elements are a periodic function of their

(A) atomic numbers (B) atomic masses
(C) atomic volumes (D) atomic sizes
Magnesium belongsto

(A) group 1 of the periodic table

(B) group 2 of the periodic table

(C) thefamily of nonmetals

(D) group 8 of the periodic table

Which of thefollowing elementsisexpected to show
nonmetallic character?

(A) As
©B

(B) Be
(D) Br
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BIOLOGY

is a gaseous plant hormone.
(A) IBA (B) Ethylene
(C) Abscisic acid (D) NAA

Which plant hormone promotes dormancy in seeds
and buds?

(A)Auxin (B) Gibberdllin

(C) Cytokinin (D) Abscisic acid
Which of the following eventsin the mouth cavity
will be affected if salivary amylaseislackinginthe
saliva?

(A) Starch breaking down into sugars.

(B) Proteins breaking down into amino acids.

(C) Absorption of vitamins.

(D) Fatsbreaking downintofatty acidsand glycerol.

Which of the following is the largest gland of the
human body?

(A) Gastric glands (B) Pancreas

(C) Liver (D) Sdlivary Glands
The small intestine receives secretions from...
(A) liver
(C) both liver and pancreas
(D) largeintestine

(B) pancreas

The vas deferens receives duct from the seminal
vesicle and opensinto urethra as

(A) epididymis
(C) efferent ductule

(B) gaculatory duct
(D) ureter

Anthers and filamentsformthe

(B) calyx

(D) corolla

(A) gynoecium

(C) androecium
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Which one of the following is not amale accessory
gland?

(A) Seminal vesicle (B) Ampulla

(C) Prostate (D) Bulbourethra gland

If an endosperm cell of an angiosperm contains 24
chromosomes, the number of chromosomesin each
cell of theroot will be

(A)8 (B) 4

(C) 16 (D) 24

The portion of embryonal axis between plumule
(future shoot) and cotyledonsiscalled

(B) epicotyl
(D) coleoptile

(A) hypocotyl

(C) coleorhiza
Thefollowing event(s) occur during photosynthesis
(A) Absorption of light energy by chlorophyll

(B) Conversion of light energy to chemical energy

(C) Reduction of carbon dioxide to carbohydrates

(D) All of the above

Oxygen liberated during photosynthesiscomesfrom
(A) water

(C) chlorophyll
At midday, what ishappening in theleaf of a plant?
(A) Respiration (B) Photosynthesis

(B) carbon dioxide

(D) glucose

(C) Mainly photosynthesis and somerespiration

(D) None of the above

Light energy captured by photosynthesisisusedin
aplant for the synthesis of :

(A) Carbohydrates

(B) Carbohydrates, Fatty acids and Proteins
(C) Fatty Acids and Proteins

(D) None of the above
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In the Calvin cycle, carbon dioxide is fixed in a
reaction with the

(A) ribul ose biphosphate

(B) ribul ose phosphate

(C) ribosetri phosphate

(D) 3-phosphoglyceric acid

Full name of NADPis

(A) Nicotinamide dinucl eotide phosphate

(B) Nicotine adenine dinuceotide phosphate

(©) Nicotinamide adenine dinucl eotide phosphate
(D) None of the above

Thevein which bringsblood fromthe lungsinto the

heart is known as
(A) pulmonary vein (B) hepatic vein
(C) superior venacava (D) pulmonary artery

When deoxygenated blood reaches the lungs, the
leaves the blood

(A) Oxygen (B) Carbon Dioxide
(C) Nitrogen (D) Phosphorus
In which of the following vertebrate group/groups,

heart does not pump oxygenated blood to different
parts of the body?

(A) Pisces and amphibians
(B) Amphibians and reptiles
(C) Amphibiansonly

(D) Fishesonly
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Therespiratory pigment in human beingsis

(A) carotene (B) chlorophyll

(C) haemoglobin (D) mitochondria
Inagiven food chain if the amount of energy at the
fourth trophic level is6 kJ, what will be the energy

available at the producer level ?
(A) 6000 kJ (B) 20 kJ
(C) 60 kJ (D) 600 kJ

A zygotewhich hasan X chromosomeinherited from
the father will developintoa:

(A) boy

(B) grl

(C) X chromosome does not determine the sex of
achild

(D) either boy or girl

Exchange of genetic material takesplacein:

(A) Vegetative reproduction

(B) Asexual reproduction

(C) Sexual reproduction

(D) Budding

Which of these practices can be adopted to save the
environment?

(A) refuse the use of single-use plastic bags

(B) reduce the use of paper bags

(C) recycle single-use bags

(D) reuse waste food

How will information travel within aneuron?

(A) Dendrite -> cell body -> axon -> nerve ending
(B) Dendrite -> axon -> cell body -> nerve ending
(C) Axon -> dendrite -> cell body -> nerve ending
(D) Axon -> cell body -> dendrite -> nerve ending
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